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as an OMR (Optical Mark Recognition)
Answer Sheet. The Question Booklet
contains 85 questions of Chemistry
serially numbered from 1 to 35. Count
the pages of the Question Booklet and be
sure that they are in proper order. Write
and mark the Subject Code 053 and
Question Booklet Series A in your OMR
Answer Sheet.

Students are required to indicate their
answers-at an appropriate place on the
OMR Answer Sheet. Darken only one
circle for each question as per
instructions given in the OMR Answer
Sheet. For each question, there are four

" probable answers, out of which only one

is correct. The student is required to
select the correct answer and darken the
corresponding circle of the
answer.

Only Blue/Black Ballpoint Pen is to be
used to write on the OMR Answer Sheet.
Students should bring their own
Ballpoint Pen. Use of pencil is strictly
prohibited.
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(2-A)

4. g’;' ;,H’Tgﬁﬁiag | foR fg’;% feg All questions are compulsory. No choice
R L. J9 YHS € is given in any of the questions. Each
5. g .9, 65— 5 - question carries 1 mark.
5’6‘6?/!’2’?7“267, Bag' éaz? Fez, Overwriting, striking, cutting, applying
@ vt 3 WETS ok 3 @Jéé];g white/correction fluid and erasing on
HBIE a5 3T gragr I 6.3 %, the OMR Answer Sheet is not allowed,
_@?H—UEB? feg wigar Iq e'r' aet Such answers will not be evaluated. Do
& AT BIMENT T2 | Gy wrg not make any stray mark on the OMR
éﬁgsabgu§a€n”\€'?]%gféa 9 639 fogfaz Answer Sheet. No change in the
== It gEs BT Eicy darkened circle is allowed once marked
6. .3 g O e A - in the OMR Answer Sheet. -
T T g | 3= &
) < an & et Rough work must not be done on the
_gﬂliéa' g wifsy 0% & =97 a9 Aae OMR Answer Sheet. Use the last page .
7 557 of o, : of the Question Booklet for rough work.
: 3 33’33‘74/3_ egative) H'dfold] ‘ _
?’Zg_g 5‘73; / No negative marking will be done.
L. HBI §'8a3 o It 7 What i ivity
: at is the molar conductivity of a
O'ZQMKCI S 298 K SUHS 3 solution . when the conductivity of
I&A3T 0-025Sem2 F 2 0-20 M KC1 solution  at. 298 K is
(A) 125Sem2mol-! 0-025 Sem? ?
(B) 0-25 Scm2 mol-1 - (A) 125 Sem? mol-1
(C) 0-25 Scm?2 (B) 0-25 Scm?2 mol-1
(D) 02 Scin2 mol-1 (C) 0-25 Scm?2
2. ©3 AfEg wia & feardt T (D) 0-2Sem?mol-1
(A) cm;1 T—F n;“l (B) Ik;!,r . The unit of cell constant is :
(C) cm mol- (D')‘ ‘_rnol"1 ‘ ‘ (A) emlorml (B) kg
3. 1lcm By ’H@ 1 cmzl m:ﬁa&m (C) "em2mol-! (D) mol-1
U39es TH U <t vease § afde Th .
il ‘ \ . ~The conductance of .a solution of 1 cm
: g0 1 length and having 1 sq. cm as area of
(A) IBI3< . cross-section is called :
(B) fefare yFAduas" (A) Conductance
(C) ydFteu (B) Resistivity
(D) fefire gsa3r ‘ (C) Resistance
4. Tz fefimr &3 fagzr fdsdt &t (D) Conductivity

Which of the following is a secondary
cell ?

(A) Mercury cell

(B) Dry cell

(C) Lead storage cell

(D) Hydrogen-Oxygen fuel cell
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(A) molL-1s"1  (B) L mol-1s-!
(© LPmol-2s-1 (D) g1

o yEd S& ydfafeer & wgw mg
34-65 Afa3 I 37 GRe a1 wfgg »f=
3
(A) 20 s-1 (B) 4x10-4s1
(C) 2x10-2s-1 (D) 2x10-4s-1
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10.

(3-A)

The half-life period of the reaction
when o firat-order reaction ig found to
have rite conntant K = 60 » 1014 -1
in:

(A) O:hx10-Mg
(C) 26x10%s

(1) 126 » 1013 4
(D) 526 » 107 &

The unit of rate constant for a zero
order reaction is :

(A) molL-1s-1 (B) L mol-!s-]
(C) LZmol-2s-1 (D) s-!
A ﬁrét-order reaction has a half-life

period of 34-65 seconds. The rate
constant is :

(A) 20s-1
(C) 2x10-25-1

(B) 4x10-4s1
(D) 2x10-4s1

The role of a catalyst is to change :
(A) Equilibrium constant

(B) Gibb’s energy of reaction

(C) Enthalpy of reaction

(D) Activation energy of reaction

The number of reacting species which
collide simultaneously to bring about
a chemilqal reaction is called :

(A)
(B)
(©
(D)

Molecularity
Order-of reaction
Rate of reaction

None of the above

A colloidal system in which a liquid is

-dispersed in a solid is called :

(A)
(B)
(C)
(D)

Emulsion

Gel

Dye test

None of the above
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(A) ﬁ%ﬁﬂ(%ﬁ?ﬁﬂ%).
(B) 3AHidae (IBHISHA/GAIUS)
(C) ga< (Snféansans). - |
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(C) meg fugfyas
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(B) As
(D) N
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(4-A)

In chemical adsorption, there are :

(A) Strong chemical bonds (forces)

(B) Irreversibility
(C) Highly specific
(D) All of the above

The solid substance on the surface of
which adsorption occurs is called :
(B) Adsorbate

(D) Absorption

(A) Adsorption
(C) Adsorbent

Milk is an example of :
(A) Emulsion (B) Suspension
(C) Foam (D) Solution

Wlﬁch of the following is not an ore of
magnesium ?

(A) Dolomite  (B) Gypsum

(C) Magnesite (D) Carnallite

A chemical method of concentration
that is useful in case the ore is soluble
in a suitable solvent is called :

(A)  Leaching
(B) Calcination
(C) Roasting
(D) Froth floatation

Which of the following does not form
pentachloride ?
(A)-P |

(C) Sb

(B) As
D) N
The structure of XeF4 is :

(A). Square Planar
(B) Pyramida)

(C©) Square Pyramidal
(D) T-shaped
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(A) HIIH (Cerium)

(B) @3UH (Europium)

(C) Wm-r (Lutetium)

(D) &dJH (Thorium)
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(5-A)

From the following, which is the
strongest acid ?

(A) HBr (B) HF

(C) HI (D) HCI

Which of the following is a powerful
bleaching agent ?

A) F (B) CI

(C) Br (D) I

Which of the following has the highest
bond angle ?
(A) Hy,0

(C) HySe

(B) H,S
(D) H,Te

Which of the following statements is
not correct for white phosphorus ?

(A) It is soft.

(B) It is non-poisonous.

(C) It can be cut with knife.

(D) Itis insoluble in water.

SFg is known but SHg is not known
because :

(A) Fluorine is the  strongest

oxidizing agent

(B) Hydrogen is a weak oxidizing

agent
Both (A) and (B)

Sulphur has smaller size

(®)
(D)

Which 'of the following is not a
lanthanoid element ?

(A)
(C) Lutetium

Cerium (B) Europium

(D) Thorium

Which of the following is the reason
for zinc not exhibiting variable
oxidation state ?

(A) Inert pair effect

(B) Completely filled 3d subshell
(C) Completely filled 4s subshell
(D) Common ion effect
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(A) (n=1)d1~10pg0-2

(B) (n=-1)d'-10pg1 -2

(C) (n=1)d-10(n-2)g0-2

(D) (n-1)d}-10ps2

Sc+3, Ti+4, ZnCly W EGEWl (ﬁgHE)

T3 wfes ¥ 991 Je 9 .

a) faeo, dter, fger

(B) W3 Jardis

(C) JI9, EﬁBT, Jardi=

(D) WS 3B dar &

La(OH); A3 3 3I93<ed YI'T A<fd

Lu(OH)3 Ag 3 IHAT yar ﬁ@.—fa :

(A) TEREATES W uave <t
T3 UIHE At T 20T B8
wedt I

(B) Buxes HaFs I96

(C) =< (A) M3 (B)

(D) fedagfsa I9dta aas

fima o3 fea fimeg os 9 fam 9

fmmersg TS Je I35

(A) SFafes ast

(B) 8EaTE3 w3 MacaTes a3t

(C) WacaTes o3t

(D) Busas fe9 a€t &t

Js fefunr feg fagz wfag 44

maHlade »ferer feu@er J 2

(A) Yb (B) Eu

(C) Tb (D) La

26. Tho general olectronic configuration
g '
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(6-A)

for d-block elements 18

(A) (n- 1) dd~10 nel -2

(B) (n-1dl- 10 ngl -2
(€) (n-1)d-10(n-2)80*

(D) (n—1)d!-10ns?

Se+3, Ti+4, ZnCly transition metal ion
has colour : .

(A) White, blue, white

(B) All are colourless

(C) Green, blue, colourless

(D) All are blue in colour

La(OH); is most basic while Lu(OH)3

is least basic due to the following
reason :

(A) The basic strength of hydroxide
decreases with increase in atomic
number

(B) Due to Lanthanoid contraction
(C) Both (A) and (B)

(D) Dueto electronic configuration

Misch metal is an alloy consisting
mostly of :

‘(A) Lanthanoid metals

(B) Lanthanoid and actinoid metals
(C) Actinoid metals

(D) None of the above

Which of following exhibits stable +4
oxidation state ?

(A) Yb
(C) Tb

(B) Eu
(D) La
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(A) 522m (B) 2:82m

(C) 0522 m (D) 282m
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(7-A)

Write the IUPAC name of
K4FCN)gNOJ
(A) Potassium pentacyanonitros yl

ferrate (11)
(B) Potassium pentacyanonitrite (1)

(C) Potassium
ferrate (111)

(D) None of the above

The formula of TUPAC tetracarbonyl
nickel (0) is :

(A) K[Ni(CO)4]

(B) [Nig(CO)4l

(C) [Ni(CO)y4l

(D) None of the above

The normality of a solution containing

pcntacyanonitrrx—:yl

31-5g of hydrated oxalic acid
(HyC504.2H50)  1n 1250 mL  of
solution is :

(A) 04N (B) 05N

(C) 08N (D) 1IN

The molality of solution when

2-82 g of glucose (molar mass = 180 g)
is dissolved in 30 g of water is :

(A) 522m (B) 2-82m

(C) 0522 m (D) 282m

Which of the following is correct for an
ideal solution ?

(A) Amixing H=0

(B) Apixing V=0 .

(C) Both (A) and (B)

(D) None of the above

Which of the following is not a
colligative property ?

(A)
(B)

Osmotic pressure

Relative
pressure

lowering in vapour

©)
(D)

Elevation in boiling point
Van’t Hoff factor



